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A H  

(1) H

 

(2)

h H

(3)

 

 
B A B 1 2 A 1v B 2v  

A 1u B 2u

     
(1)  

    1 1 2 2 1 1 2 2  m v m v mu m u   

( )     2 2 2 2
1 1 2 2 1 1 2 2

1 1 1 1
  

2 2 2 2
mv m v mu m u  

(2)  

    1 1 2 2 1 1 2 2  m v m v mu m u   

( )     2 2 2 2
1 1 2 2 1 1 2 2

1 1 1 1
  

2 2 2 2
m v m v mu m u   

  2 2 2 2
2 1 1 1 2 2 1 1 2 2

1 1 1 1
E E E  ( ) (  )

2 2 2 2
mu m u m v m v  

(3) ( )  

    1 1 2 2 1 2  ( ) m v m v m m u     1 1 2 2

1 2

mv m v
u

m m
   

( )     2 2 2
1 1 2 2 1 2

1 1 1
  ( )

2 2 2
m v m v m m u   

  2 2 2
2 1 1 2 1 1 2 2

1 1 1
E E E  ( )   (  )

2 2 2
m m u m v m v  
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A A 1 B 2

 

                  
B A B C 1 2( )   

 

     

   1 1 2 2 1 2 1  ( ) Cm v m v m m V         1 1 2 2
1

1 2

   C

m v m v
V

m m
   

       

   1 1 2 2 1 2 2  ( ) Cmu m u m m V         1 1 2 2
2

1 2

   C

mu m u
V

m m
 

   1 1 2 2 1 1 2 2  m v m v mu m u  

     1 1 2 2 1 1 2 2
1 2

1 2 1 2

       C C

mv m v mu m u
V V

m m m m
  

 :   

 

C A B A B A B A B

A B A B

A B B A

B A A B  

(1)

 

(2)  

(3)

 

(4)

 
 

    

    

   ( ) 
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____1.  

___________________________________________________________________ 

____2.

___________________________________________________________________ 

____3.  

___________________________________________________________________ 

____4.  

___________________________________________________________________ 

____5.

 

___________________________________________________________________ 

____6. A B A B A A

B  

___________________________________________________________________ 

____7.  

___________________________________________________________________ 

____8.

___________________________________________________________________ 

____9.  

___________________________________________________________________ 

____10.  

_________________________________________________________________ 

____11.

 

_________________________________________________________________ 

____12.

_________________________________________________________________ 

____13.  

_________________________________________________________________ 

____14.  

_________________________________________________________________ 
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____15.   
(A)  (B)  (C)   
(D)  (E)  

____16.(68 ) 5
v

 
(A)1  (B)2  (C)3  (D)4  (E)5  

____17.  
(A)   (B)

  (C)   (D)
  (E)  

____18.    
(A)   (B)

  (C)  (D)
  (E)

 

____19.
 

(A)  (B)  (C)
 (D)

 (E)  

____20. A B A B A
( )    

(A)A B   (B)A B   (C) A B   
(D) A B   (E) A  

____21. ( )   
(A)   (B)   (C)    
(D)   (E)

____22. A B
( )   

(A)   (B)  (C)    
(D)   (E)

____23. ( )   
(A)  (B)  (C)

 (D)  (E)
 

____24.  
(A)   (B)

  (C)   (D)   (E)
0  
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m v0 M

0

8

v 0

4

v
 

(1) M m  
(A) 2M m   (B) 3M m   (C) 4M m   (D) 5M m   (E) 6M m  

(2)  

(A) 2
0

59

128
mv   (B) 2

0

27

64
mv   (C) 2

0

17

32
mv   (D) 2

0

5

16
mv   (E) 2

0

3

4
mv  

(1)E   (2)B 
 
 
 

 
M 2.0 m s 4M

M 0.50 m s 4M
 

(A)0  (B)0.38 m s  (C)0.63 m s  (D)0.94 m s  (E)2.5 m s  
C 

 
 
 

 
M m v

( ) 
(A)   (B)

  (C)
 mv 
 M   (D)

  (E)  
ABD 

 
 
 

  
60 kg 920 kg 108 km(30 m s)

20 kg 2000 
kg 54 km(15 m s)

0.2 s
N    

(A)3000  (B)2500  (C)2000  (D)1500  (E)1000  
E 

 

2  (102 ) 

3  (103 ) 

1

4  (104 ) 
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( m1 m2 m) k ( )

(m1) v  
(1) VC ___________  

(2) U ___________  

(1)  ( )
2

v
(2) 21

4
mv  

 
 
 

 
4m v m

2v
( g) 
(1)  

(A)
1

3
(B)

1

4
  (C)

1

5
  (D)

2

5
  (E)

3

5
 

(2)  

(A)
29

5
  (B)

218

5
  (C)

212

5
  (D)

212

25
  (E)

218

25
 

(1)D   (2)B
 
 
 
 

 
v t  

(1)  
(A)1 2  (B)1 3  (C)1 4  (D)2 3  (E)3 2  

(2) 4.0
 

(A)120  (B)240  (C)300  (D)360  (E)480    
(3)  

(A)12   (B)8   (C)6   (D)3   (E)2  
(4)  

(A)36   (B)48   (C)64   (D)72   (E)96  
(5)   

(A)1 2  (B)1 3  (C)1 4  (D)2 3  (E)3 2  
(1)D   (2)A   (3)C   (4)D   (5)E 

 
 
 

7 

5 

6 
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40 cm

100 g 9.9 kg
60° (g 10 m s2) 

(1) _______J  

(2) ________m s  
(1)20J   (2)200m s 

 
 
 
 
 

 
10 v 10

L 1 v 2

37 g 10 2  

(1)  

(A)10  (B)8  (C)6  (D)4  (E)2  

(2) v  

(A)4000  (B)2000  (C)1000  (D)400  (E)200   

(1)E   (2)A 
 
 
 
 

 
m 2m

 

(1) ____________  

(2) ____________  

(1)
1

18
  (2)

1

3
mg  

 
 
 

 

100 1kg

0.2 16m  

(A)44  (B)88  (C)132  (D)22  (E)66    m s  

(B) 
 
 
 

8 

9 

10

11
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m v M

k

 

(A) 2 
mv

mv
k

  (B)
mv M m

k m
  (C)

M

M m
  (D)

( )

mv

k M m
  (E)

kmv

M m
 

(D) 
 

 
 

 
m M L X

 

(A) M m g
X

m L
 (B)

M

M m g
X

L
 (C) X

L

g
 (D)

m

m g
X

M L
 (E) m g

X
M m L

  

(D) 
 
 
 
 

 
m 0v 2m L

 

(1) _________  

(2) _________  

(3) S _________  

(1) 0

1

4
v   (2)

2
05

16L

mv
  (3)

1

5
L  

 
 
 

 

k M
g m

R _________  

2 2
2

( m)
[R ( ) ]

k M mg

m k
  

 
 

12 

13 

14 

15 



 

 264 

 

m v M d  
(1) _________  
(2) _________  
(3) _________  
(4) _________  

(1)
mM

mv
 (2) 

mM

M
mv

2

1 2  (3) 
mM

m
mv

2

1 2  (4) 
2

2

)mM(gd

m
mv

2

1
  

 
 
 
 

 
m

v
 

(A)   (B)

(C)
24v
 (D)

2

2

v
  

(E)
2

4

v
 

(B)(E)  
 
 
 

 

 

(1) _________  
(  

(2) _________  

( ) 
(3)

_________ ( ) 

(1)
k
d

m
  (2)

( )

Mk
d

m m M
  (3)

m
d

m M
  

 
 

16 

18 (94 ) 

17 (93 ) 
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(1) 1 2 E

_________  

(2) M
m v0

_________  

(1)
1

3
E    (2) 0 cosmv

m M
 

 
 
 
 
 
 

 

(1) m 2m 2m A B C
B C k

A v0 B
B C ____________  

(2) M L m

0v ( )

0

2

v ( ) _____________

 

(1) 02

3

v m

k
   (2)

0

2

(3 )

ML

m M v
 

 
 
 
 
 

 
M

m
____________ ( ) 

2 23 2M Mm m
g

M m
 

 
 
 

19 

20 

21 
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1. 10 500 m s 4.99

 ( 210 m/sg ) 

(A)2cm  (B)5cm  (C)8cm  (D)10cm  (E)12cm
 
 
 
 

2. m H

2m

g 2m

 

(A) 2
gH

3
  (B) 1

gH
3

  (C) 4
gH

3
  (D) 2gH   (E) 1

gH
3

 

 
 
 

3. M L m

v0

(A)
22

0

2( )

M v

M m
  (B)

2
0

2( )

Mmv

M m
  (C)

22
0

2

M v

m
  (D)

2
0

2

Mv
  (E)

22
0

2

m v

M
 

 
 
 
 

4. 4 m  L 

m v

(A)
2

25L

v
  (B)

23

25L

v
  (C)

2

20L

v   (D)
23

20L

v
  (E)

23

16L

v
 

 
 
 
 

5. 5 m s 4

5 v v m s ( ) 

(A)
5

2
  (B)

5

2
  (C) 5   (D) 2 5   (E)

5

4
     m s  
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6. 2m A B A

B k ( )

m R R

A  

(1) A ___________  

(2) A ____________  
 
 
 
 

7. m 2m m
2m  

(A)1 2  (B)2 1  (C)3 1  (D)4 1  (E)8 1
 
 
 

8. N

m 3 m 2 10 cm s
 

(A) 10 cm s   (B) 15 cm s    
(C) 15 cm s   (D) 15 cm s    
(E) 10 cm s

 

 

 

9. A B 4 kg 8 kg A 5 m s

B A 1 m s

A B

 

(A)6  (B)12  (C)17  (D)33  (E)38  
 

 
 

10. 0.2 A B A 4

B B 3

   

(A) 0.8   (B) 0.8    

(C) 1.6   (D) 1.6   (E)  
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11. L m 10L 9m

f  

(A)81mg  (B)86mg  (C)91mg  (D)96mg  (E)101mg  
 
 
 
 

12. m v M

2

v

v ( g) 

(A) 3
M

g
m

  (B) 5
M

g
m

  (C) 2
3

M
g

m
  (D) 2

5
M

g
m

  (E) 2
7

M
g

m
 

 
 
 
 

13. A B v t

A 1.2 kg A B N  

(A)6  (B)12  (C)16  (D)24  (E)36  N  
 
 
 
 
 

14. m 2 v 12 m 4 v

0  

(A)3  (B)4  (C)6  (D)8  (E)9      
 
 
 
 

15. 3 A 24 2

B AB B

12 A  

(A)8  (B)9  (C)12  (D)16  (E)18      m s  
 
 
 
 

16. m

 

(A)
2m gH

M m
  (B)

MmgH

M m
  (C)

2m gH

M m
  (D)

mMgH

M m
  (E)

2

2( )

mM gH

M m
 

 
 


